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BX 71,610 147,373 72,137 75,236 |fEcHI5T 297 649 310 339
2 thT6T 183 363 169 194

EEFWLET 295 614 307 307 H 1,456 3,042 1,457 1,585
EEFILET2T 378 782 350 432 |FXEET1T 827 1,540 680 860
EEFILBIST 538 1,267 591 676 |FXEET2T 336 713 349 364
B 1,211 2,663 1,248 1,415 |F SET3T 232 540 267 273

B4y EALET1T 184 285 188 97 |7 BET4T 16 39 20 19
B4 EALET2T 172 338 155 183 (K EBEI5T 1 5 2 3
B4 EALBT3T 122 244 113 131 H 1,412 2,837 1,318 1,519
1By EALRT4T 144 358 167 191 [FKZETFE1T 78 176 87 89
B 622 1,225 623 602 |FK2BTAE2T 62 99 41 58

By BT 227 397 194 203 H 140 275 128 147
By EEHRET2T 174 339 158 181 [FKZETER1T 105 157 73 84
By EEHRET3T 137 351 169 182 |72 BTHR2T 139 193 90 103
By EEHRET4T 61 110 57 53 K 2BTER3T 95 166 85 81
B 599 1,197 578 619 [T 2BTER4T 78 194 90 104

By EFRT1T 104 213 101 112 |3k Z2BTE®R5T 132 291 140 151
B4 EFgRT2T 88 175 90 85 B 549 1,001 478 523
B4 EEFGRT3T 124 257 123 134 (ZHE1T 63 70 32 38
JB4s EFgRT4T 97 234 106 128 (ZHaET2T 28 72 39 33
g 413 879 420 459 |ZHET3T 2 6 2 4

JB& 136 283 143 140 B 93 148 73 75
EZBTFEIT 40 93 41 52 [ KET#1T 107 242 116 126
W BTEE2T 27 61 35 26 | KET#E2T 62 122 66 56
W2 BTEE3T 29 63 32 31 | KET#E3T 231 529 247 282
g 96 217 108 109 B 400 893 429 464

BZBIRIT 136 303 158 145 | KETS®R1T 24 52 25 27
W2 BTR2T 20 44 14 30 [ KETE2T 54 112 61 51
g 156 347 172 175 | KETER3T 84 158 79 79

AR 35 76 46 30 [ KETE4T 216 289 149 140
BET 312 691 328 363 B 378 611 314 297
BERT2T 163 357 152 205 | KGEALET1T 229 516 253 263
BIERTIT 525 1,183 604 579 | K;EALET2T 850 1,752 829 923
RIZETAT 128 301 152 149 | K;EJLET3T 484 860 417 443
g 1,128 2,532 1,236 1,296 B 1,563 3,128 1,499 1,629

—%&& 491 857 439 418 | KGERETTT 157 393 185 208
BT 24 29 20 9 [KiEdRET2T 254 513 246 267
2 ET#E2T 192 440 207 233 | KEGRET3T 344 765 378 387
T2 ET#E3T 49 90 33 57 B 755 1,671 809 862
g 265 559 260 299 | KGERGET1T 241 417 253 164

HZETERIT 36 52 28 24 | K;EFHET2T 397 728 346 382
HZETER2T 49 107 51 56 |XK;EFIETST 491 770 364 406
HZETER3T 92 192 93 99 B 1,129 1,915 963 952
HZETER4T 60 112 56 56 |$HERT1T 269 378 210 168
HZETER5T 113 184 85 99 ($54EMET2T 159 289 123 166
HZETER6T 46 96 49 47 B 428 667 333 334
g 396 743 362 381 [ZE/NEHET1T 64 138 67 71

StET1T 267 571 277 294 =B /NEFET2T 21 43 19 24
SitEr2 T 294 661 325 336 (=E/NEFETST 17 25 15 10
SithET3T 262 379 180 199 [=E/NFFRT4T 18 47 28 19
SithET4T 345 700 317 383 g 120 253 129 124
SithEI5 T 65 181 89 92 [iBILET1T 436 1,095 559 536
SithET6 T 482 1,094 536 558 |;BILET2T 381 1,011 481 530
B 1,715 3,586 1,724 1,862 [iBILET3T 100 176 92 84

KAETTT 109 191 93 98 [iBILRT4T 349 877 430 447
KARHET2T 116 201 90 111 [{BILETST 88 171 95 76
KARHETAT 85 245 121 124 g 1,354 3,330 1,657 1,673
KARHETST 67 156 79 77 |FREERTERTT 163 271 126 145
KARHETET 99 182 91 91 |FHEERTFE2T 96 209 95 114
B 476 975 474 501 |EREERTAE3T 248 376 199 177

ExenT 279 543 262 281 g 507 856 420 436
Exhr2T 129 245 119 126 (ERZERTERIT 28 54 25 29
A3 T 227 475 230 245 |FREERTER2T 243 552 252 300
Exhr4T 341 767 367 400 |FFEERTER3T 161 265 137 128
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FHERTRAT 178 307 159 148 |Gt =E~ EBT2T 31 74 33 41
EREEMTERS T Al 130 66 64 [It=E4 EEI3T 127 260 113 147
EREEMTER6 T 284 322 226 96 [t =E4 EET4T 75 184 83 101

B 965 1,630 865 765 [t =E 4~ EBI5T 65 127 56 Al
E5yERT 708 1,301 664 637 [At=E~ EBT6T 208 439 216 223
E4ER2T 374 874 439 435 (At =E4 EBTTT 125 290 134 156
E45ER3T 385 750 364 386 |t =FE~ EHBT8T 306 620 293 327
E45ERT4AT 501 978 493 485 st 1,077 2,317 1,075 1,242
E45ERST 305 719 340 379 |tz 3T 171 260 119 141

B 2,273 4,622 2,300 2,322 |RETE 159 306 141 165
HMARETTT 149 356 169 187 [{HF0ET1T 233 417 188 229
HARET2T 595 1,474 727 747 |HBAET2T 155 409 182 227
PN 141 299 158 141 ({HF0ET3T 208 495 245 250
HARETAT 199 352 202 150 ({HF0ET4T 334 677 306 371

g 1,084 2,481 1,256 1,225 |13 FNET5T 503 1,049 455 594
EBHEIT 14 25 14 11 5 1,433 3,047 1,376 1,671
EH&E2T 41 97 45 52 |SRIEET1T 301 627 319 308
EHE3ST 36 89 41 48 |SRIERT2T 26 62 28 34
EH@E4T 52 102 43 59 |SR#ERTST 207 451 218 233

g 143 313 143 170 B 534 1,140 565 575
ErERT 55 113 60 53 | LFERTEETT 32 80 33 47
ErER2T 61 152 68 84 | hLIEIRTFE2T 119 272 140 132
ErER3T 100 233 107 126 B 151 352 173 179
ErER4T 37 93 51 42 |AFEBTERIT 56 131 63 68

g 253 591 286 305 | ALFEIBTER2T 77 190 92 98
AT 2 H 654 1,416 682 734 | ALFEIBTER3T 23 60 29 31
HEART T 96 177 98 79 B 156 381 184 197
HEART2T 436 1,066 510 556 |#EIRBTER1T 46 76 34 42
HEART4AT 1 6 3 3 |HEERTR2T 135 174 99 75

B 533 1,249 611 638 |#ERBTER3T 22 38 19 19
LEET 124 217 96 121 | BRI ERE4T 61 133 65 68
dEET2T 53 93 44 49 g 264 421 217 204

g 177 310 140 170 (f@ET1T 134 287 151 136
L RIEET1T 106 268 119 149 |#EET2T 65 116 62 54
trREET2T 29 54 25 29 (fET3T 180 399 205 194

g 135 322 144 178 (t@ET4T 162 410 211 199
t;EKET1T 183 327 164 163 g 541 1,212 629 583
Jt;EKET2T 67 153 65 88 |REFFHTFE1T 79 206 88 118
Jt;EKET3T 105 219 116 103 |REEFETFR2T 129 281 128 153

g 355 699 345 354 |REEFHTFE3T 10 15 5 10
JLERTIT 523 1,119 558 561 g 218 502 221 281
JLERT2T 74 131 58 73 |REEFETER1T 40 85 35 50
JLERTST 91 190 107 83 |REFFHTER2T 61 93 51 42

g 688 1,440 723 717 |BEEFRTER3T 95 160 89 71
StEEHET 119 249 129 120 |REEFHETERAT 129 239 115 124
dtEEHET2T 90 210 100 110 |REEFETERST 10 26 16 10
dtEEHEST 202 465 229 236 g 335 603 306 297

g 411 924 458 466 |EZHTFE1T 76 170 80 90
AL HREERT 1T 69 151 7 80 |EH ZHTFE2T 72 123 62 61
LHREERT 2T 48 107 54 53 |E 2BTFE3T 32 49 26 23
L HREERTFE3T 147 282 141 141 E 180 342 168 174

B 264 540 266 274 |EEZBTER1T 47 109 50 59
JLREERTER1T 90 204 100 104 (EEZHTER2T 36 85 37 48
JLREERTER2T 15 31 15 16 [EEZHETER3T 19 42 17 25

&t 105 235 115 120 B 102 236 104 132
bR BT 146 283 159 124 |[RIBEHETTT 288 571 299 272
dtfEAOBTT 42 73 36 37 |mfERET2T 253 557 263 294
dtfiEAO/T2T 265 425 261 164 |RIPEFET3T 193 470 236 234
JtfEAO/T3T 9 20 8 12 |RIBEFET4AT 284 482 206 276

&t 316 518 305 213 |MIfESRETST 220 516 257 259
bl oy i 54 112 54 58 |MIfESRET6T 376 725 364 361
JLH-ETER 42 84 44 40 5 1,614 3,321 1,625 1,696
hERE 105 210 100 110 |RIBEFEET1T 392 1,022 491 531
Tt=E45ER1T 140 323 147 176 [FIBEFEAT2 T 265 603 286 317
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BIETEERD 120 271 135 136 [EEHETER3T 107 247 111 136
RIfEFRET4AT 489 861 429 432 5 317 633 286 347

5 1,266 2,757 1,341 1,416 [DIFRTFETIT 50 82 41 41
RFEERET1T 232 411 209 202 | MRFETEE2T 93 175 85 90
RFEERET2T 404 869 416 453 |">MRFETEEST 98 232 113 119
RFERETIT 514 1,233 580 653 |V MRFETEEAT 63 153 72 81

B 1,150 2,513 1,205 1,308 5 304 642 311 331
E- 3] 280 621 285 336 |"DMAFETERIT 92 142 80 62
1ENRE & 105 204 103 101 [DFRFRTE2T 62 132 69 63
MARETEIT 109 161 98 63 |"DMRFETERIT 103 179 95 84
MAETFE2T 147 242 128 114 [DIRFRTEAT 28 37 22 15
MAETFEIT 64 182 97 85 5 285 490 266 224

B 320 585 323 262 |FBFIEIT 53 113 56 57
MARETEIT 82 224 116 108 (REF0@E2T 41 70 31 39
MARETER2T 45 88 44 44 |REFNEST 32 57 27 30
MARETERIT Al 156 72 84 |REFNE4T 39 98 48 50
MARETERAT 96 218 102 116 |FBFIEST 13 30 15 15

g 294 686 334 352 |RBFNE6T 15 37 18 19
E3] 204 420 202 218 B 193 405 195 210
FERT 280 374 196 178 [FERETFETT 69 198 104 94
FKIGET2T 182 338 166 172 [FERETFE2T 60 149 72 77

g 462 712 362 350 |FTERETAEST 178 349 170 179
PRZBTEIT 88 206 95 111 [FERETFEAT 86 165 73 92
P BTEE2T 72 183 83 100 B 393 861 419 442
PRZBTFE3T 115 253 123 130 |[F7ERBTEIT 12 34 17 17

B 275 642 301 341 |ETERBIE2T 71 123 69 54
PZBTERIT 87 194 107 87 |FTERBIERIT 77 155 70 85
P BTER2T 18 35 13 22 |FITERBIRAT 100 192 96 96

g 105 229 120 109 B 260 504 252 252
H AR 280 528 280 248 |fH{RE 162 365 180 185
=%& 300 580 283 297 |FrHET 158 247 142 105
=BT 157 347 174 173 (#HBAETHE1T 33 84 42 42
==Hmr2T 523 1,138 548 590 |#HBEARTFE2T 12 24 10 14
==FH3T 260 471 267 204 |tHBAETEE3T 31 70 37 33
==H4T 289 529 284 245 B 76 178 89 89
==H5T 290 663 339 324 |tHBAETER1T 90 185 82 103
==HT6T 279 585 321 264 |tHBAETER2T 55 139 67 72
=FH9T 2 2 2 0 [fHEARTER3T 41 105 51 54

g 1,800 3,735 1,935 1,800 B 186 429 200 229
Bt 245 577 278 299 | EREIT 37 83 34 49
t&aE 181 395 190 205 | ERE2T 19 32 18 14
I E T 718 1,594 754 840 | ERE3ST 36 73 31 42
B AT 370 835 397 438 | ERBE4T 36 79 38 41
REMRET 232 437 216 221 | EREST 12 33 17 16
HETmET2T 307 678 341 337 B 140 300 138 162
REMBIST 313 637 303 334 |RbERTIT 313 680 336 344
REMET4T 258 502 236 266 |RbERT2T 84 193 88 105

g 1,110 2,254 1,096 1,158 |FEET3T 109 175 100 75
EiEETE1T 5 11 6 5 B 506 1,048 524 524
BEiRRTFE2T 42 46 25 21 |1 5EEMT 499 825 377 448
BEiRRTFE3 T 318 505 270 235 |1X SHEET2T 79 161 77 84
BEiRRTFE4T 58 95 49 46 B 578 986 454 532

B 423 657 350 307 | KALET 62 162 83 79
EERTER1T 28 64 29 35 | KAl /AT 532 1,219 575 644
BRI 2T 17 31 17 14 (KALTFERT1T 364 652 303 349
e R 209 414 196 218 | KALFEET2T 13 15 11 4
BRI AT 88 176 82 94 | KNLFERT3T 3 6 3 3

B 342 685 324 361 | KALFEETAT 7 19 10 9
BERETEIT 40 104 51 53 | KAILFERTS T 55 103 49 54
BERETE2T 20 41 17 24 | KANLFERT6 T 32 45 21 24
ERETEIT 92 245 130 115 B 474 840 397 443

B 152 390 198 192 |SRVET1T 79 158 84 74
BEEEEIT 120 216 100 116 |SFET2T 56 124 54 70
BEERFE2T 90 170 75 95 |S R ET3T 69 146 64 82
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SWET4AT 6 21 9 12 |FfEET1T 69 158 70 88

B 210 449 211 238 |FEBEET2T 25 54 27 27
SZEET2T 33 55 32 23 |FIRERT3T 59 153 68 85
EZERI3T 103 201 113 88 |FIfERT4 T 61 147 71 76

B 136 256 145 111 H 214 512 236 276
H 3T 1,549 3,238 1,680 1,558 |BRET1T 54 105 45 60
i) \VEHT 6 6 6 0 |BRET2T 125 213 107 106
HEEFETT 349 622 290 332 |BRAT3T 180 379 170 209
HEEFE2T 156 395 191 204 |BRET4T 297 593 270 323
HEEFEST 205 464 226 238 B 656 1,290 592 698
HEEFEAT 201 348 199 149 (S22 BTFE1T 91 233 100 133

Hi 911 1,829 906 923 |$RZBTFE2T 41 99 49 50
HERT 235 463 209 254 |$RZBTFR3T 92 242 119 123
HEET2T 655 1,407 659 748 5 224 574 268 306
HEET3T 284 620 307 313 |f8R2BTE1T 69 147 77 70
HERT4T 177 411 191 220 |$R2BTER2T 51 111 49 62
HEET5T 181 410 207 203 B 120 258 126 132

g 1,532 3,311 1,573 1,738 (FasKILE 117 247 131 116
H & TG HET 7 14 6 8 |FEEmET1T 199 394 189 205
HER& 101 203 109 94 |FG;ERT2T 132 240 112 128
S FRET 89 196 92 104 (FEZEMT3T 147 282 132 150
FHETFE1T 46 68 42 26 |FGERT4T 195 409 200 209
FHETFE2T 113 229 105 124 (F5ZEMET5T 279 565 262 303
FHBTFE3ST 167 302 152 150 |FaZEmT6 T 116 226 111 115

g 326 599 299 300 B 1,068 2,116 1,006 1,110
FHETERIT 4 74 34 40 | = %38 232 469 200 269
FHETER2T 86 125 67 58 |REFZHIT 370 719 352 367
FHBTERIT 115 179 97 82 Bk ILE 40 86 45 41
FHETERAT 96 163 77 86 |HERT1T 79 148 80 68

g 338 541 275 266 |HERT2T 148 346 165 181
hEEMT 52 100 53 47 |BRERT3T 166 341 161 180
hEET2T 19 39 15 24 |RRERTAT 89 192 100 92

B 7 139 68 71 |ERERTST 178 374 200 174
FEFEET1T 230 402 206 196 [BZEMET6T 69 115 54 61
R EFEET2T 37 84 38 46 &t 729 1,516 760 756

g 267 486 244 242 |¥ABET1T 137 297 151 146
P EEHFETTT 105 225 105 120 (#2BHET2T 234 551 263 288
R FET2T 123 299 140 159 &t 371 848 414 434
R FETST 185 426 204 222 (#MERFIEIT 126 272 152 120

B 413 950 449 501 [faEBKFN)IL@2T 172 381 194 187
frsK LU 72 152 70 82 [#AEBAFN)IE3T 44 44 44 0
=alvd:i i N 110 162 95 67 B 342 697 390 307
hZBTFE2T 56 115 57 58 |ZE~y EHFER 200 400 193 207
2z BTFE3T 275 467 250 217 |#&~ EdtBT1T 104 134 102 32
2 BTFE4T 137 204 95 109 |#k~r EALET2T 173 299 138 161

B 578 948 497 451 |#&~ EILET3T 95 189 97 92
hZETER1T 60 99 50 49 |#x~ EdLET4T 145 338 160 178
hZBTER2T 118 168 95 73 B 517 960 497 463
hZBTER3T 82 160 78 82 |#k~s EHhET1T 97 216 98 118
hZ2BTERAT 86 175 89 86 |k EHHET2T 175 347 152 195

&t 346 602 312 290 |#&~ EHET3T 155 327 148 179
h=E~sEBT 100 267 115 152 |#&~ EhBT4T 111 242 105 137
h=Ey ERT2T 44 107 51 56 g 538 1,132 503 629
h=E4s R8T 62 141 63 78 |#&~ EEEART1T 69 152 78 74
h=E4s ERT4T 133 295 137 158 |#k~ EFgRT2T 20 43 21 22
h=E4s ER5T 105 263 121 142 |#&~ EFRT3T 42 87 45 42
h=E4s ERT6T 149 339 160 179 |#&~ EFIRT4T 68 167 74 93
h=E4sER/7T 131 303 143 160 g 199 449 218 231

&t 724 1,715 790 925 |#XET1T 124 275 130 145
FEHET 345 462 248 214 |#%HBT2T 231 461 246 215
hRHE2T 138 253 124 129 [#XEBT3T 4 8 5 3
FEHEIT 165 315 150 165 g 359 744 381 363

B 648 1,030 522 508 |Eg ELHET 59 79 43 36
At f AT 83 156 72 84 [FAMIEAT1T 218 482 231 251
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FERZET2T 19 32 17 15 291 644 324 320

B 237 514 248 266 |l Z2BTE1T 133 327 158 169
HEETT 72 148 80 68 |HlzBTE®2T 76 196 95 101
HEET2T 178 424 205 219 209 523 253 270
HEET3T 108 168 108 60 [/\IBE&E1T 17 33 19 14
HEET4AT 35 78 34 44 |)\i&@E2T 15 34 15 19
HEETST 58 113 50 63 |/\I&E@E3T 29 67 29 38
B 451 931 477 454 61 134 63 71
ME/KETT 76 211 94 117 |IUARBT1T 544 1,383 687 696
FEKET2T 24 50 22 28 [IUAHET2T 235 605 293 312
FE/KET3T 224 452 240 212 |LUAKRET3T 22 74 37 37
B 324 713 356 357 |LLUAHETST 503 1,021 558 463
FAFERTT 228 525 268 257 1,304 3,083 1,575 1,508
FAERT2T 167 320 136 184 |EMIEHT1T 122 198 100 98
£ 395 845 404 441 |EHIERT2T 220 292 193 99
FHEHET 106 229 116 113 342 490 293 197
PHEEFHE2T 78 169 84 85 |[EFE&E 118 204 106 98
MHEEFEST 80 190 87 103 |7R&E& 191 374 170 204
PHEEHET4T 135 317 153 164
B 399 905 440 465
FRERTEIT 122 233 117 116
FiRERTFE2T 92 203 89 114
FRERTFEST 173 369 175 194
FRERTFEIT 100 201 93 108
B 487 1,006 474 532
FRERTERIT 151 233 132 101
FRERTR2T 146 281 138 143
FRERTRIT 16 37 12 25
FRERTRIT 138 267 127 140
B 451 818 409 409
MAEEORT 78 128 65 63
MAEEOR2T 54 77 32 45
B 132 205 97 108
AT 87 149 76 73
FEFETFE2T 48 100 52 48
FAFETFEST 128 285 144 141
FFETFE4T 33 68 27 41
B 296 602 299 303
FHETRIT 55 102 46 56
FHETR2T 29 65 33 32
Hi 84 167 79 88
AR E 97 228 105 123
H=E~sEBMT 122 267 119 148
HM=E~ER2T 79 158 78 80
H=E~sER3T 145 349 157 192
H=E~sER4T 171 422 193 229
H=E~ER5T 191 473 224 249
H=E~ERT6T 287 579 273 306
Hi 995 2,248 1,044 1,204
BERHFEIT 37 74 30 44
FERFET2T 89 264 130 134
FERFETIT 56 122 59 63
FERFETAT 12 26 16 10
FERHFETST 7 146 Al 75
FERFET6T 40 86 40 46
&t 305 718 346 372
BEEYET 397 727 379 348
BEEYEN2T 241 475 220 255
&t 638 1,202 599 603
XEEIEE 193 426 207 219
INTFRE 179 384 177 207
WZBTFE1T 65 104 53 51
WZETFE2T 106 248 135 113
HZBTFE3T 120 292 136 156
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